Project: Arroyo Simi Stabilizer Repairs Spec. No. WP20-06 Abstract of Bids opened on May 7, 2020

ENGINEERS ESTIMATE: \$524,000

LOW BIDDER -Cerco Engineering Thousand Oaks, CA 91362 \$449,728.00

2nd Bidder -Union Engineering Company, Inc. Ventura, CA 93002 \$1,182,456.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: WPD- Sal Diaz-Rubin; Monique Jimenez

Bids opened on May 7, 2020				ENGINEER'S ESTIMATE		LOW BIDDER	
Project: Arroyo Simi Stabilizer Repairs						Cerco Engineering	
						1158 Valley High A	venue
					Thousand Oaks, CA 91362		
Spec. No. WP20-06						424-386-8302 FAX: NA	
ITEM							
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
	Mobilization	LS	1	25,069.00	25,069.00	20,800.00	20,800.00
!	Water Pollution Control	LS	1	7,000.00	7,000.00	6,800.00	6,800.00
i	Diversion Control and Removal of Water	LS	1	183,000.00	183,000.00	149,500.00	149,500.00
	Clearing and Grubbing	LS	1	6,000.00	6,000.00	7,000.00	7,000.00
	Removal of Existing Concreted Rock Riprap	CY	83	150.00	12,450.00	135.00	11,205.00
	Excavation Safety	LS	1	10,000.00	10,000.00	13,400.00	13,400.00
	Excavation	CY	703	60.00	42,180.00	30.00	21,090.00
	Fill and Backfill	CY	60	100,00	6,000.00	115.00	6,900.00
	Stilling Basin Hole Repair	EA	11	200.00	2,200.00	320,00	3,520.00
0	Slurry	CY	50	200.00	10,000.00	256.00	12,800.00
1	1- Ton Rock Riprap	CY	761	170.00	129,370.00	130.00	98,930.00
2	1- Ton Concreted Rock Riprap	CY	50	200.00	10,000.00	280.00	14,000.00
3	1/4 - Ton Concreted Rock Riprap	CY	100	270.00	27,000.00	330.00	33,000.00
4	Filter Material A	CY	122	235.00	28,670.00	197.00	24,034.00
5	Filtet Material B	CY	81	260.00	21,060.00	208.00	16,848.00
6	Concrete Hole Coring	EA	10	400.00	4,000.00	990.00	9,900.00
7	Release on Contract	LS	1	1.00	1.00	1,00	1.00
	TOTAL				524,000.00		449,728.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified by bidder Copies: Director PWA, PM: WPD- Sal Diaz-Rubin; Monique Jimenez

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Bids opened on May 7, 2020		2nd Bidder			
Project	t: Arroyo Simi Stabilizer Repairs	Union Engineering Company, Inc. P.O. Box 1000			
		Ventura, CA 93002 805-644-3373 FAX: 805-644-3380			
	Spec. No. WP20-06	005-044-3373 FAX	. 003-044-3300		
ITEM NO.	ITEM	UNIT PRICE	TOTAL		
1	Mobilization	135,000.00	135,000.00		
2	Water Pollution Control	31,000.00	31,000.00		
3	Diversion Control and Removal of Water	450,000.00	450,000.00		
4	Clearing and Grubbing	26,000.00	26,000.00		
5	Removal of Existing Concreted Rock Riprap	600.00	49,800.00		
6	Excavation Safety	32,000.00	32,000.00		
7	Excavation	150.00	105,450.00		
8	Fill and Backfill	105.00	6,300.00	Е	
9	Stilling Basin Hole Repair	500.00	5,500.00		
10	Slurry	450.00	22,500.00		
11	1- Ton Rock Riprap	200.00	152,200.00		
12	1- Ton Concreted Rock Riprap	400.00	20,000.00		
13	1/4 - Ton Concreted Rock Riprap	350.00	35,000.00		
14	Filter Material A	505.00	61,610.00		
15	Filtet Material B	495.00	40,095.00		
16	Concrete Hole Coring	1,000.00	10,000.00		
17	Release on Contract	1.00	1.00		
	TOTAL		1,182,456.00	Α	

Spec. No.WP20-06

PROPOSAL

Contractor's Name	CERCO	下このこ	MEERY	46

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
RAIN FOR RELAT	102975	333 SOUTH 127H	3 REMOVAL OF WATER STITLATIO
		93060	
			ACERCO
		LIC#1	ENGINEERING

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Spec. No.WP20-06

PROPOSAL

Contractor's Name	Union Engineering	Company, Inc.	
-------------------	-------------------	---------------	--

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
None			

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.